Aot







£ Ne P Nt Moy @ 25 T Ne
s > »
\LZ’%\NCH LNC“‘F_L +23%=2 |
- 42,__, e \"L—-?———*?
BCD: ZO \l_’\_\C“ z —-ZZJ-Z 2 NQD
Nedo D
5 .
(_21“?\ <« KNDR: 2o
\Q‘o(z 25 G - \ .
. .._?_,-o 7.2 DR
ND\" N
]Esﬂz!
_ )
}'Pl??é’:oﬁm = 36 & ‘  &= bx e 24l

-3
|’ Bl 2 i
‘ ?Z'—'/l%xo.’}fx =5 18.9 bl \ @Z: x6 = 42#»)5‘
" 2

Hep = 2€¢ 0.5 + 2~ ]:0.3$+ O.S-O.st + 189,035 4422025 .

©
o e——

2z S o g

& = < !
C—0.L7>
@ + Jo.2+ 3.9|1+2.\ = 26.6} enlon

ﬁu»),\': d [36&&2 + 2(9)‘(,( + 48,?x(éf+ }2')*'42‘?] =’

'

= A [?zf qe + 1295+ &6 = 755 IS

o= 24l = ©.069 |




— ,f | uz.
\202 - ALSZe ¥ 4285( ?o) 472%—Ma“ 2

v p——

e ;

%:“ 4(152(10)—!285 (:o)=-mz 25

\/”'—_'




